H & 0l & AHS B Ml A

SA: URRIHED
M DX

=elr XS ReIFE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
P ES==ni; 2,723,635 4,613,402 1,889,767
= 136,524
[ 217,130
Al 834,274
- 1,535,707
LEXH 2,533,585 4,363,938 1,830,353
= 136,524
[ 217,130
Al 834,274
- 1,345,657
S LielEE 321,460 1,674,118 1,352,658
= 82,418
- 230,042
CARIEECE 29 3,368 3,568 A200
201 er2 3| 1,568 1,568 0
01 AtR2te|HI 1,568 1,568 0
O A2IZE gl 2o BA=E
70,0002 *16E*22|*0.7 1,568
203 gF=4| 1,800 2,000 A200
03 A=A 2= 1,800 2,000 A200
OLAeIHE =AY
2,000,000 *141%90% 1,800
AEE ASIZE A (D EALY) 152,556 152,55 0
307 el2tol & 152,556 162,556
02 2IZHBYAIAE & 152,556 152,556
OulsE At2lSE At
152,556,000 *14] 152,556
AEE ZAE dRiel AF (LKA 164,836 332,294 A167,458
= 82,418
- 82,418
101 @124H| 164,836 331,84 167,058
= 82,418
T 82,418
M ORINZZENSE S 164,836 331,894 167,058
OulsE =588 2Aiel A el2ib|
164,836,000 164,836
= 82,418
- 82,418
MEAS MM 2 700 700 0
201 et 3| 700 700
01 At22t2l] 700 700
Odzd=42ARE 22 F4E
70,0002 x5 #23] 700
Y =8 778,587 770,230 8,357
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LAtelEE 0

Hu: DEx
el 3EEE =0 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 54,106
Al 169,000
- 555,481
FHAIH 2dal A 31,504 12,760 18,744
201 et 3| 29,660 11,760 17,900
01 At22t2l] 10,660 8,760 1,900
OHARUEHSIAS BIARA Lo
70,0002 7 H 23] 980
OFAUIERAD 3A&FA =& (TA)
50,0003 x24 & +80%*22] 1,920
OFUEUIERD 31&84 (2
30,0002 x24H «80%=* 102! 5,760
OFHUERAD 24| 2,000
O8=Hl & R2I= MAH S
2,000,000 %14 2,000
03 A= SHI 19,000 3,000 16,000
OFEHUERAD /3= 3,000
Ofd& MdHl S 3,000,000& %12 3,000
OFEIEFAAA(FUF A0 L8
16,000,000 * 14| 16,000
301 EtE NS 1,844 1,000 844
11 dAMEBIXIE S 1,844 1,000 844
OFEUEAD &sX&bl
8,000% x24 & +80%+ 122 1,844
HAZ THERIR A (LRI04 219,693 271,400 A51,707
= 19,433
- 200,260
201 2= 14,000 23,000 29,000
= 1,500
- 12,500
01 At22t2lt] 13,000 22,000 29,000
OsEE U B HE
1,000,000 %14 1,000
O8A=g & N22 200,000 %102 2,000
= 1,000
- 1,000
OozddEy ALE X2
200,000 %502 10,000
03 A= EHI 1,000 1,000 0
OZEEy 222 & HERZ 2¢
1,000,000 %14 1,000
= 500
- 500
307 @I2t01 & 205,693 248,400 N42,707
= 17,933




A gXelEE
gz DX

el 3EEE =0 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 187,760
02 QA AAEE X 205,693 248,400 N42,707
OFHEY MEXE AtHbI 205,693
OXJIXIE(140/12 HAX)
12,000,000& * 11 132,000
O&ZXIZ(74A0lot LX)
15,000, 000& *3H 45,000
O&ETIR(2121H))
1,600,000 * 103 22 +89. 6656% 28,693
= 17,933
- 10,760
S FERel At 58,390 185,440 127,050
= 34,673
T 23,717
301 LEtE NS 5,960 44,900 238,940
= 1,905
- 4,095
14 JIEt 2 a3 5,960 44,900 38,940
OFO0IT QIEIE
2,500,000« 1 *23|*76. 2% 3,810
= 1,905
- 1,905
OusHl XA 2,180
OSMAEIIY F0XH2E I
50,0002 *(3+6+10) & 950
OSMEEIIY FORH(1E X
50,0008 x2& 122 1,200
307 212+01& 52,430 124,800 AT2,370
= 32,768
- 19,662
02 LB HAHE L 52,430 124,800 ~T72,370
OoFEdL el XIZ A 52,430
OSMEEIIY FORH2E I
,600,000& *(3t6+10) 2 +76.2072% 23,167
= 14,479
- 8,688
OHAMEEIIY EHUHAHIE )
1,600,000 x2EH 128 %76.2057% 29,263
= 18,289
T 10,974
FEZ2 RRIIX 2E 2S(4AX04) 300,000 300,630 A630
307 el2tol & 300,000 300,630 2630
05 2I2tRIE =S 300,000 300,630 A630
OFEE2 |FRIIX 28 29
300,000,000 x 14 300,000
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Hu: DEx
el 3EEE =0 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
QIME HAM X2 (18-39Al) 169,000 0 169,000
Al 169,000
301 EtE NS 169,000 0 169,000
Al 169,000
03 A2 E A0S (XILTHH) 169,000 0 169,000
OFHEAN XNE=S
100,000 x169& *102] 169,000
Al 169,000
AR XM |4 424,798 911,890 A48T ,092
= 217,130
Al 54,774
T 152,894
ARSI SH(LXeIE S, ME)(ZUXI0A 269,617 547,000 A277,383
= 202,130
Al 47,274
- 20,213
307 212+01& 269,617 547,000 A277,383
= 202,130
Al 47,274
- 20,213
02 QB HANEER 269,617 547,000 A2T7,383
O(CIBNAIZIEDIY LRIeIEE ARSI
269,617,000 x14] 269,617
= 202,130
Al 47,274
- 20,213
ASIEBH S4 X (GAXI0AH) 69,110 88,190 119,080
201 223 69,110 88,190 19,080
01 AtR2t2lt] 21,110 31,690 210,580
O=2g8=+d 910
OAIHBH=49Eal 29 #A+¢
70,0008/ *12/+8% 560
O8RS A USE TAsE
350,000& *1 350
Oget=ZH] 20,200
OARIRZ N &85t E22 MA S
3,000,000 14| 3,000
OARIE BN So 2= MH
3,750,000 x4 & 15,000
OFEAHBNOISHE LA M
2,200,000& %12 2,200
03 A= &I 48,000 56,500 /8,500
OMIRBHM AHe W=
3,000,000 *14! 3,000
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Rl AR ZHEH =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAEIHEN UWERD 243t At
5,000,000& 14 5,000
OAt2I XM etoteg 22,000,000 *14] 22,000
OAIZHB M HZXIE AL
2,500,000 *42] 10,000
OMIIHTH SR At
4,000,000& 22| 8,000
oEolg |4 30,000 80,000 50,000
= 15,000
Al 7,500
T 7,500
307 lztol & 30,000 80,000 250,000
= 15,000
Al 7,500
- 7,500
02 B HAHE L 30,000 80,000 /50,000
otrs1y 54 30,000,000& * 14| 30,000
s 15,000
Al 7,500
- 7,500
SEAMSIHZNOISHH 2 56,071 56,071
201 Ler23 | 56,071 56,071
01 At22t2lt] 36,135 36,135
Odgt=3ZH| 9,360
OANFES & JIEt+=EH|
300,000 x 12 3,600
SADI - SEI| gz
180,000 x2CH* 122 4,320
O&=J| Xz 40,0002 3CH* 122 1,440
OZelE4l 26,775
O&Aa E9HI 1,570,000& 12 18,840
OREHIANAY 2 S|
455,000« 123 5,460
odyjerdae|8d E9H|
77,0003 * 122 924
OaxgAld2e|B8E S|
129,250 x 122 1,551
02 S3=gHl 19,936 0 19,936
OsE2= & HA 17,736
OdJIg= 1,400,000& «12& 16,800
04 - ot=e=3 70,000 * 122 840
Oty adIdE=2ERs
8,000 x 12 %6
OAIE2EbBI= X 2,200
OdstxdAa 400,000 *14] 400
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LAtelEE 0
DEXNA
ARIEHZH F4

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJIEFA S EHISAI]
150,000& * 12 1,800
FHEXHA 1,008,740 1,007,700 1,040
Al 610,500
- 398,240
NASSH LAt Ar (M IXI0 A (M EALY) 446,000 446,000 0
Al 334,500
- 111,500
101 e124d| 439,310 am,7rr A2,467
Al 331,333
- 107,977
M ORINZZ2NSE S 439,310 a7 N2,467
OXSESSHMEL el At 12|
439,310,000& 439,310
Al 331,333
- 107,977
201 etz 3| 6,690 4,223 2,467
Al 3,167
- 3,523
01 Al222lH| 6,690 4,273 0 467
ONABEHMLXIZIAY MEYI S
6.,690,000& 6,690
Al 3,167
T 3,523
3322 A (X0 540,000 540,000 0
Al 270,000
- 270,000
101 212A4H| 535,000 535,000 0
Al 267,500
- 267,500
M ORNZZ2NSE S 535,000 535,000 0
OSS2=2AIY 12| 535,000,000 535,000
Al 267,500
- 267,500
201 er23| 5,000 5,000 0
Al 2,500
- 2,500
01 AtR2t2|HI 5,000 5,000 0
O==s22AM M=l S 5,000,000& 5,000
Al 2,500
- 2,500
FHYEHE =2& 22,740 21,700 1,040
Al 6,000
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M DX
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201 er23y| 22,740 21,700 1,040
Al 6,000
- 16,740
01 AtR2tc|Hl 4,840 5,000 A160
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1,000,000& *4= 7| 4,000
OMYAIMAIHAT & SALL W=
420,000 <22 840
02 S3=gHl 7,200 6,000 1,200
Odst & EXMR2=s & 600,000 * 12 7,200
Al 2,000
- 5,200
03 A2 HHI 10,700 10,700 0
OFQURAK} Sreol & A} 9,600
OE2= NH 2,000& 2,5000H4 5,000
Al 3,000
- 2,000
OHARNAES F 4,600,000 14] 4,600
Al 1,000
- 3,600
OF LS BA+d 220,000 52 1,100
BY S SLI(LX2IZE) 190,050 249,464 59,414
elIE =g 167,038 210,599 53,561
FEZZHE MPAFA 212 167,038 185,878 1,160
101 21A4H| 151,019 149,903 1,116
02 JIEtME = 151,019 143,393 7,626
OAIRMIEI RIS IIMOS A3 116,055
OJles 2,130,000 x4E 12 102,240
odues 49,339,000 8%+ (35/40) x4 H 13,815
OAIZIEEMSIIMOE =< 32,330
OAZEERHEIINOtE S22
195,000 *(35/40) Al 2++4 2 12 8,190
OJtE=g 60,000 x4 * 122 2,880
OgAZALI 150,000 x4~ 122 7,200
OzuU22=E
9,860 x15AI 2+ x4 H < 12& 7,100
OS2 &t
2,130, 0002 »84%+~86%+( 1/30) 4 *70AI 2Hx(1/7)
2,052
OS+A2+Y
2,130,000 *(40/35) Al 2 H+84%+5%+4H » 122
4,908
ONEEE ANEXNRES
150,485,000& *1.75% 2,634
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